Section 2.2

Hirts First plot a-intercepts on the graph of 77 for any horizontal fangents on the graph of . Look for anv comers on the graph
of F-—there will be a discontinady on the graph of . On any interval where § hes a tangent with nositive {or negative) siope, the graph of 7/ will be

positive {or negative. i the graph of the function is linear, the graph of 7* will be a horizontat line.
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Section 2.2

=

a= f.b= f'.e= f". We can sce this because where & has & horizontal tangent, b = 0, and where b has a borizontal tangent,

e = {. We can immediately see that ¢ can be acither f nor 77, sinee at the points where ¢ has a horizontal tangent, neither o

nor b is equal to 0.

8

We can immediately see that o is the graph of the acceleration function. since at the points where 4 ias a horizontal tangent,
ueither ¢ nor b 15 equal to 8. Next, we note that e = 0 at the peint where b has a horizontal tangent, so b must be the graph of

the velocity function. and henee, ' = a. We conclude that ¢ is the graph of the position fanction.
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